Vidyasagar Science Olympiad
Model questions for level 1
Mathematics:

Question 1: The date of 100" day of a year, which is not a leap year, will be
@ 70 S 7, oF I=@ba 100 o e oy =3 -

(a) Aprill0 (b) April 11 (c) April 7 (d) April 9
10 «fze 11@fefs 7 e 9 @fere

Question 2: If 8A5146B is divisible by 88, then what is the value of A x B?
M 8AS5146B el 88 7R [Foky 27, O @ A X B @3 IF F© 23?2

(@4 (b)16 (c) 8 (d)12

Question 3: There are 600 employees in a certain company. 40 percent of the
employees of the company are men and rests are women. If 60 percent of the women
earn more than Rs. 2,50,000 per year. Then the number of women earn Rs. 2,50,000
per year or less in this company is -

@b @rINR @6 600 T FHRT w0 40% FHR 71 ¢ AfF Az whoE 3w sz
FHER W@ 60% @3 AARTE =m 250000 TR @R [, OF@ FO T WZw FOE AARTE
o 250000 = A OIF FP

(a) 360 (b) 240 (c) 216 (d) 144

Question 4: Consider a sequence of seven consecutive integers. The average of the
first five integers is 25. The average of all the seven integers is:

R, A7 b RYF Gib Wegl SRl G 22N AT FLE T 25 2@, TRSH RYE ST
2
(a) 24 (b) 25 (c) 26 (d) 27

Question 5: In a rectangle, the difference between the sum of the adjacent sides and
the diagonal is half the length of the longer side. What is the ratio of the shorter to the
longer side?

@3 wwerwEd qb fRe I=E @hwE ¢ IR WEd SHerEand Ao IR WET
SASCFAG FUON ¢ WOV I WIS F© FE?

@V3:2 () 1:N3 (©)2:5 (d)3:4



Question 6:

If 5 men and 3 boys can reap 23 hectares in 4 days and if 3 men and 2 boys can reap
7 hectares in 2 days, then how many boys must assist 7 men in order that they may
reap 45 hectares in 6 days?

M 5T T 8 3T A 4 Wi 23 1239 G T PG AT A9 3 T FT € 2 T
e 2 TG 7 12FT R T QoS A, O FOG AT T G JFCE AZS 45 128 G
T 6 M T e

(@1 (b)2 (03 (4

Question 7: The equilateral triangles overlap as in the figure below.

750 650

The value of the angle X is

b R fge T e Pl WS Wige FE Wil XG99 W FO 2
(a) 30° (b) 35° (c) 40° (d) 50°

Question 8: If the amount requires to paint an area of 1 sq. cm is Rs. 2, then the
expenditure (in Rs.) to paint all the outer surfaces of a cubical box of length 20 cm is-
W 1 sq. cm TFAFST g FAS 2 BIF 4B 7, OF, 20 cm (1 [7EE @ weglS A
JET ISR T8 FAS FO HIF! ¥ 72

(2) 2400 (b) 3600  (c)4800  (d) 6000

Question 9: The remainder when the number (2 x 3 x 4 x 2007 x 2008 x 2009) —
2008 is divided by 2009 is

(2 x 3 x4 x2007 x 2008 x 2009) — 2008 =<6 2009 == ©lf FAE, FS G
2

a)0 (b)1 (c)2007  (d) 2008



Question 10: ABCD is a square in the figure below. Point E lies on the side AD and
F lies on the side BC in such a way so that, BE = EF = FD = 30 cm. The area of the
square (in square cm) is

framm® ABCD wfzstas AD ez ©o E @5 R @3 BC I8 &R F 3 R
aeld w&¥S @ BE = EF = FD = 30 cm | OI%#, #fwabd twaws (I 10) T3-

(a) 300 (b) 900 (c) 810 (d) None of these

Physical Science:

Question 1: A 50gm block of copper is kept at room temperature of 25°C. Specific
heat capacity of copper is 0.09cal per gm per degree Celsius. Which of the following
statements is correct?

50gm OFEE @b SR FF IR SR (25°C) AL Wizl SR S i
0.09cal/gm.°C| S v [ Aowr

a) The copper block contains 112.5cal heat
S Fibee 112.5¢al ©7 =]

b) The copper block is transferring heat to surroundings

SN FF0 AF O IE AARTSE qeR)

c) The copper block is receiving heat from surroundings

JET AR (AF It ONF FIHCS R

d) The copper block is in thermal equilibrium with its surroundings, and there is
no net transfer of heat between copper and its surroundings

SR 70 AER ARTSER A ST ANIBE WM @<k FI0 8 OF AR
ARTSER T SR @I AT S 2 2 =l



Question 2: A ray of light passing through air is incident on the surface of a
transparent material at an angle of incidence 30°. Which of the following statements
is correct if the angle of refraction is 50° ?

G ST T T A TR T S G0 TR YR T TS 30 © Wthoe el
e 2o AW Ao @i 50° =, OE [Ea @ [t Afowe

a) The refractive index of the transparent material with respect to air is greater than 1.

AR AT &) TR N6 ASEIE W 149 B @i

b) The refractive index of the transparent material with respect to air is less than 1.
AP AT ) TR N6 ASEIE W 149 B I

c) The angle by which the ray is deviated from its path is 40°
@ I TG SR e s e Kpw = o W 40°

d) The light-ray travels faster in the transparent material than in air.

S ¥R WYOCS AR (30 RS AR @R {F @

Question 3: A 50gm block is floating in a liquid half-immersed. The buoyant force is
50gm SEF GIH FF NEF (ORI TIBA GIH OAA SPIR| TSR T -

a) More than 50 gm wt (50 gm wt @ @ @)
b) Less than 50 gm wt (50 gm wt @3 B F)

c) Equal to 50 gm wt (50 gm wt &3 3=)
d) Zero (%)

Question 4: You are pulling a block of wood placed on a table with a horizontal
force of 10N. The block does not move. Frictional force acting on the block is

BRER TR AR @3 F0T 75 o @30 10N Sgehe 3= i Sl 7Fg 3916 oz
98 U@ FFOF TR fEaElier wfel e e -

a) More than 10N and horizontal (Sgfi e 10N @= o =)

b) Equal to 10N and vertically downward (10N Sswer@ R )

¢) Equal to 10N and horizontal (10N wefis M)

d) More than 10N and vertically downward (Tewei@ R W 10N @3 @ @)



Question 5: Force of gravitation acts between any two masses in the universe.
Which of the following is true for the pendulum bobs hanging from the ceiling?

TGP T TS @ T Yo SR W W | 2W QA S M @A o v
Pirea the [ea @R F2AG AIF?

a) The bobs will move towards each other due to gravitational attraction

Pregib =< it e e T A

b) The bobs will not move towards each other as the gravitational attraction of the
earth on the bobs is so much stronger that the gravitational attraction between the
bobs appear as negligible

P AIEs e A T N, e, Preve Tom 2l SfeeEd B gerE
T T TP B il

c¢) The bobs will not be attracted toward each other, as on earth only gravity is
present, not universal gravitation

Pregl s s 1 A 7, TR, RS vy wowd 6 A, TG T>FE @
A A
d) The bobs do not move towards each other, as the force of attraction between the

bobs get cancelled by the earth’s attractive force on the bobs.

Pregl s s i A ), iR, P s T2 @ oimE Trr SRS
meh Sfosy = =E 2fei® 2@ Im

Question 6: If a force of 10 N is exerted on an area of 500 square centimetre, the
magnitude of the pressure will be

10 N {8671 1 500 101 ez 2@ 2@ 8 i WM 20 -

2) 020 N/m>  b)2000N/m?>  ¢)20 N/m? d) 200 N /m?



Question 7: The correct statement among the following is

e Rfoslm S @ e ot = -

a) heat reaches earth from the sun through conduction, convection and radiation

AT RS O T AR, v ¢ [ien T

b) heat reaches earth from the sun through conduction and convection

AT RS Ot WET AR 8 AR T

c) heat reaches earth from the sun through convection and radiation

T SRS ©rFt et Afver ¢ R w

d) heat reaches earth from the sun through radiation

T RS ot e [RiFes T

Question 8: The amphoteric oxide among the following is

Tord SHIRT 2 -
a) CaO b) Zn0O C) SO; d) P40y

Question 9: The formula of calcium phosphate is

FIALEN TF6 T REFS A -
a) CaPO4 b) Ca,POq C) Caz(PO4)3 d) Ca3(PO4)2

Question 10: During electrolysis of molten sodium chloride

sfere CIfEaN FRiEes SfoRiemed I8 T -

a) cathode is positive and reduction occurs there
TAT {AIGT 8 G el T

b) cathode is negative and reduction occurs there
TMAC AATGE @ G el <5

¢) anode is positive and reduction occurs there
ATS G 8 G el T

d) anode is negative and reduction occurs there

T HNGF 8 G [ewige =G|




Biology:
Question 1: The microbe that reproduce only inside the body of the host organism is-
(a)Bacteria (b) Virus (¢) Protozoa (d) Fungi

NW‘@?@WCWWW?QWWW-
(a) AVICORTT  (b) 12T (c) CATTOICGTAT (d) AT

Question 2: Alcohol is produced with the help of-
(a) NaCl (b) Yeast  (c) Nitrogen  (d) Carbon dioxide

(@) NaCl  (b)%% (O NAETG  (d) CO,

Question 3: Which of the following is not used as food preservatives-
(a) Salt (b) Vinegar (c) Sugar (d) Methane

RIS (PG UMy STSTHCT AL FAT XA -

(a) IN b)fsfome - (o fofN (d) farez=

Question 4: Human body undergoes several changes during adolescence. These
changes mark the onset of-

(a)Puberty (b) Prematurity  (c) Post adolescence (d) Ageing

JUIFHBIE NI * A RO AR 41 91 G2 e Niea @i N
m_

(a) (RN B (b) ATH-AN TS 1T (€) TR -NITSIBIA  (d) ALY

Question 5: Which of the following is the correct combination?

(a) Microtubules-Respiration  (b) Lysosome-Intra cellular digestion
(¢) Mitochondria-Cell secreation (d) Golgi complex- Energy
fARfARS (M (Gret Hfo-

() TR - TN (b) SRS - SBSTIA AN

(c) NTR(OIBIGH - (FPNITHIT  (d) S5 IS - NS T AN



Question 6: Which of the following is the main difference between onion peel cells
and human cheek cells?

(a) Presence of mitochondria in onion peel cells.

(b) Presence of cell wall in onion peel cells.

(c) Absence of plasma membrane in cheek cells.

(d) Absence of endoplasmic reticulum in cheek cells.

(TG NFHATTD (P 478 WIT (G (TOTIT (I WY (I ANLFIC S 90T N
"_Eﬂ'_

a) (NG FFHA YT (I NG WROIPA G AP

b) (TSR NFATGI (FIN (FHATEI ACF

¢ I OIOF (GO (T (FHAAT A N

d) WA (HIHF (SO (FIH TGS el Ty A Zo

Question 7: Which of the following contain more mitochondria-
a) Dry seeds b) Dormant seeds c) Germinating seeds d) Soaked seeds.
RS (e WfEF WRCFN G AFE-

) WF NG b)IITTFAAIAG ) AGFRO AT d) (SGAT IS

Question 8: Which of the following statement is true-

a) Boys reach puberty at an earlier age than girls.

b) Girls reach puberty earlier than boys.

c) At the end of rapid growth, girls are normally heavier than boys.
d) Between the age 4-12, girls grow faster than boys.

RS (@ IS0 B Il WA =T-

a) (RUSTAT (NCACHR (AT WIS (A Goref =

b) CTAT (RLARR YT (FCAM BS1f =T

) O Iad RSO (VT (A (ATF WEF ST AT© I

d) 4 (CF 12 JRLAF WY (NCHCUF (RLETCHA (0P ([N I =T



Question 9: A common preservative used in jam and pickles is

a) Sodium benzoate b) Nitric acid ¢) Sodium Chloride d) Copper sulphate.

TUIN (Gl AF® FACO (T LY oo 50 X ©f J6-
a) TSN (RCTIC  b) NMGTN (FIAIZG ) DA ARG d) VRGP SITG

Question 10: What is competition?

a) When animals are eating food.

b) Where two or more animals are fighting for resources or space.
c) When animals live in dens.

d) None of these above.

AfSTRIfTer =TS 3 (QI-T-

a) TY AT YR ACHR

b) TX 72 I OTOIEH A AT & ITEIN O FTY1R FAR

¢) AT YN 51TS I FAR
d) (P62 N






